TS FE HRIXBEEHRKRL (18~38)

A X H XD X AR X HER(FH)
1 BEE THRAGE Hil 10,000
1 BEE BT Ok & 10,000
1 HONE HRENE BEMR 7,500
1 BEE TTHRAETE FEEETL 11,000
1 HONE HEBIfREEE JHENR 1,300
1 =8 2l - BREAMERTER B 7,000
1 =8 AKBELZHFEELE =B 3,000
1 BEE BI3E Ok ZREAT 11,000
1 HHNE HEMLREAR BLIER 6,000
2 | 2| BHE WHEEET Helam 3,720
2 | 2| BHE WHMEEET Helam 1,860
2 [ 7| HHE THRE FLrEAN 7,180
2 | 8 =8 MEAXCHBEHEEILE =B 4,000
2| 8| BEE BECHE TR 10,000
2| 8| BEE BECHE BT 5,000
311 HNE TTERER FLER 14,320
3| 1] BHE FETXEEET P4 Y- Bilm 3,720
3|12 BEE BT Ok Bl 20,000
31131 =& BRA =T N =& 10,000
3|27 BEE BIEE ik ZEET 16,500
3129 =& BERODEWV SNE 2,000
3129 REE BECHE BTl 10,000
3129 HHAE BRA =TIV ANFERES 12,450




